
STYL'One Nano
TECHNICAL DATA

MEDELPHARM SAS
12, rue des Petites Combes, Z.I.
01700 Beynost (Lyon) – France
Phone: +33 478 976 210
contact@medelpharm.com
www.medelpharm.com

STYL'One
channel

ME-076_EN_D (12 2019)

Number of press stations 1

Tool type B+D (EU/TSM, D-441, oversized) 

Die BBS, BB, B, D, oversized

Max. Pre-compression force 50 kN

Max. Compression force 50 kN

Max. Tablet diameter 25 mm

Max. die filling 21 mm (B) - 23 mm (D) 

Upper punch insertion depth 3 mm

Feeder
Paddle force feeder

Advanced Gravity Feeder 100 ml 
or 250 ml

Load applied From lower punch

Max. output 1 800 tabs/hour

Compression mode Force or displacement driven

Compression dynamics
(profiles)

Small rotary press
Saw-tooth
Square
(extended dwell time – up to 3s)

Machine dimensions (LxWxH) 628 x 580 x 880 mm
(bench top model)

Net Weight 250 Kg (550 lbs) 

Power supply/utilities 230 V 1PH+N/220 V 3PH 
50/60Hz, 16 Amps
Compressed air 6 bars

MEDELPHARM
12 Rue des petites combes
01700 BEYNOST
TEL:  +33 (0) 478 976 210  
FAX: +33 (0) 478 881 865

N° interne d'identification - Internal identification N°

Ce document est la propriété de Medepharm.
This document is the property of Medelpharm.

Il ne peut être utilisé, reproduit, communiqué ou divulgué sans son autorisation préalable.
It must not be used, reproduced, transmitted or disclosed without the priorwritten 

permission of Medelpharm.

Gen. machining :

Title :

Weight :

Date of creation :

Tx. :

Material :

Quantity :

Masse :

Trait. :

Matière :

Quantité :

N°

±0.1 ±0.2 ±0.3 ±0.5 ±0.8 ±2
>2201451

1000
221
450

101
220

0
45

Date de première diffusion: Dessiné par :
Author : Checked by :

Vérifié par :

Echelle :
Scale :A2 Usinage Gén. : 

±1.2

1001
2200

m

46
100Tolerance class

J.DARBON T.VERMEULIN

Titre :

GENERALES TOLERANCES FOR LINEAR DIMENSIONS
(unless specified otherwise)

Permissible deviations nominal dimensions in mm

-PSY4R0000
1:5

- PROJET MK2

254.11 Kg

 8
80

 

 628 

 560  45 

 5
00

 

 5
80

 

 4
7 

Indice 
Rev. Date Modifications / Observations Nom / Name

Lab. Part Number Ind. Qty.
1 1

1.1 PSY4R0101 - 1
1.2 PSY4R0102 - 1
1.3 PSY4R0103 A 1
1.4 PSY4R0104 - 1
1.5 PSY4R0105 - 1
1.6 PSY4R0106 - 2
1.7 PSY4R0107 - 1
1.8 PSY4R0108 A 1
1.9 PSY4R0109 - 1
1.10 PSY4R0110 - 1
1.11 PSY4R0111 - 2
1.12 PSY4R0112 A 1
1.13 PSY4R0113 - 2
1.14 PSY4R0114 - 2
1.15 PSY4R0115 - 1
1.16 PSY4R0116 - 1
1.17 PSY4R0117 - 5
1.18 PSY4R0118 - 5
1.19 PSY4R0119 - 1
1.20 PSY4R0120 - 1
1.21 PSY4R0122 - 1
1.22 PSY4R0123 - 1
1.23 PSY4R0124 - 1
1.24 PSY4R0125 - 2
1.25 PSY4R0126 - 1
1.26 PSY3R0213 C 2

1.26.1 PSY3R0214 A 1
1.26.2 PSY3R0215 C 1
1.26.3 PSY3R0216 - 1
1.27 5X10 Pin 2
1.28 5X20 Pin 8
1.29 8X20 Pin 12
1.30 Foot EM Réf: 35-722-36-10-45 - 4
1.31 STOP RING MC Réf: F2-32-30 - 6
1.32 Rule HEIDENHAIN Réf:LS477-120 - 2
1.33 Detector BAUMER Réf: IFRM-08P17A3-S35L - 2
1.34 Expansible hub MC Réf: A5-57-30 - 2
1.35 Actuator FESTO Réf: ADN-40-100-I-P-A-65K8-S1 - 1
1.36 Connection FESTO Réf: GRLA-M5-QS-6-D - 2
1.37 M25 Plastic Nut Réf RS: 444-3114 - 1
1.38 Flat washer M 10 N 4
1.39 H M10 Nut - Galvanized 4
1.40 CHC M10x30 Screw - Galvanized 8
1.41 H M16x35 Screw - Galvanized 4
1.42 CHC M5x12 Screw - Galvanized 10
1.43 HC M5x20 Screw - Galvanized 10
1.44 CHC M8x25 Screw - Galvanized 8
1.45 CHC M5x16 Screw - Galvanized 4
1.46 CHC M4x20 Screw - Galvanized 4
1.47 CHC M6x25 Screw - Galvanized 4
1.48 CHC M6x12 Screw - Stainless Steel 2
1.49 CHC M4x8 Screw - Galvanized 2
1.50 H M4x10 Screw - Stainless Steel 8
1.51 FHC M4x10 Screw - Galvanized 8
1.52 CHC M6x35 Screw - Galvanized 2
1.53 CHC M4x30 Screw - Stainless Steel 2
1.54 CHC M6x20 Screw - Galvanized 4
1.55 PSY4R0127 A 1
1.56 PSY4R0128 - 1
1.57 PSY4R0129 A 1
1.58 PSY4R0130 - 5
1.59 PSY4R0131 - 1
1.60 PSY4R0132 A 1

1.60.1 -
1.61 PSY4R0133 - 1

1.61.1 -
1.62 PSY4R0134 - 1
1.63 PSY4R0135 - 1
1.64 PSY4R0136 - 1
1.65 PSY3R1155 - 2
1.66 Magnet SUPERMAGNETE Réf: CS-S-23-04-N - 1
1.67 Washer ESSENTRA Réf: VG-2 - 2
1.68 Screw ESSENTRA Réf: VGS-5 - 2
1.69 Male Tip LEGRIS Réf : 9287-21-10 (Option) - 1
1.70 Connexion Female LEGRIS Réf : 9214-21-13 - 1
1.71 Connexion LEGRIS Réf: 3114-08-10 - 1
1.72 Switch SCHNEIDER Réf: VBF-3 - 1
1.73 Cable gland RS Réf: 843-6211 - 1
1.74 Coupler RJ45 HARTING 09454521560 Réf RS:765-9034 - 1
1.75 Protection cover HARTING Réf:09 45 502 0005 - 1
1.76 Base PHOENIX Réf:1419331 - 1
1.77 Cover BINDER Réf:08 2677 000 000 - 1
1.78 Hinge PIZZATO Réf: HC-AB - 1

1.78.1 - 1
1.78.2 - 1
1.79 Security Hinge PIZZATO Réf: HP-AB052D-0.2PM - 1

1.79.1 - 1
1.79.2 - 1
1.80 Ring EM Réf: 18-017-10 - 2
1.81 Connexion FESTO Réf: QSL-1/2-12 - 2
1.82 Connexion FESTO Réf: QS-12H-8 - 2
1.83 FRL FESTO Réf: MSB6 Pld - 1
1.84 Distributor FESTO Réf: VTUG-14-SR8-B1T-Q8L-UL-Q6S-BMQ8+HN1TV - 1
1.85 CHC M3x8 Screw - Galvanized 10
1.86 CHC M4x10 Screw - Stainless Steel 4
1.87 CHC M5x10 Screw - Galvanized 14
1.88 CHC M5x25 Screw - Galvanized 3
1.89 CHC M6x16 Screw - Galvanized 4
1.90 H M5x16 Screw - Stainless Steel 4
1.91 FHC M4x10 Screw - Stainless Steel 3
1.92 BHC M4x8 Screw - Stainless Steel 10
1.93 PSY4R0137 - 1
1.94 PSY4R0138 - 1
1.95 PSY4R0139 - 1
1.96 PSY4R0140 - 1
1.97 Silencer FESTO Réf: UOS-1-LF - 1
1.98 Cable FESTO Réf: KMEB-1-24-2.5-LED - 2
1.99 Bouchon FESTO Réf: B-1/2 - 2
1.100 Pressure regulator FESTO Réf: LRMA-QS-6 - 1
1.101 2
1.102 H M4x8 Screw - Stainless Steel 1
1.103 CHC M4x30 Screw - Galvanized 2

2 PSY4R0200 - 1
2.1 PSY4R0201 - 1
2.2 PSY4R0202 - 1
2.3 PSY4R0203 - 1
2.4 PSY4R0204 - 1
2.5 PSY4R0205 - 1
2.6 PSY4R0206 - 2
2.7 PSY4R0207 - 1
2.8 PSY4R0208 - 2
2.9 PSY4R0209 - 2

2.10 PSY4R0210 - 1
2.11 PSY4R0211 - 1
2.12 PSY4R0212 - 1
2.13 PSY4R0213 - 1
2.14 PSY4R0214 - 1
2.15 PSY4R0215 - 2
2.16 PSY4R0216 - 1
2.17 M8 x 25 Shoulder Screw - 2
2.18 Actuator FESTO Réf: DRVS-40-270-P - 1
2.19 Détector FESTO Réf: SRBS-Q12-40-E270-EP-1-S-M8 - 1
2.20 Connection FESTO Réf: GRLA-1/8-QS-8-D - 2
2.21 Antifriction Bearing MC Réf: C3-161-30-34-16 PAF 30160 P14 - 4
2.22 Antifriction Bearing MC Réf: C3-161-35-39-26 PAF 35260 P14 - 2
2.23 Ball bushing MC Réf: B82-DBKS-30-PP - 4
2.24 Elastic ring MC Réf: F3-05-47 - 2
2.25 Elastic Ring MC Réf:F3-050-50 - 1
2.26 Force sensor HBM Réf: C9C-50KN - 1
2.27 10X35 Pin 2
2.28 5X20 Pin 8
2.29 5X8 Pin - Stainless Steel 1
2.30 Key 5x5x50 - 1
2.31 CHC M8x30 Screw - Galvanized 4
2.32 CHC M6x30 Screw - Galvanized 4
2.33 CHC M5x12 Screw - Galvanized 10
2.34 CHC M8x20 Screw - Galvanized 4
2.35 CHC M8x25 Screw - Galvanized 4
2.36 CHC M4x8 Screw - Galvanized 7
2.37 Spring VANEL Réf:C.050.060.0080.I - 4
2.38 Brake MAYR Réf: ROBA-stop-M16-891.101.0.24.14.6885/1 - 1
2.39 Friction plate MAYR Réf: 2050045 - 1

3 PSY4R0300 - 1
3.1 PSY4R0301 - 1
3.2 1
3.3 1
3.4 PSY4R0304 - 1
3.5 PSY4R0305 - 1
3.6 PSY4R0306 - 1
3.7 PSY4R0307 A 1
3.8 PSY4R0308 - 1
3.9 PSY4R0309 - 1

3.10 PSY4R0310 - 1
3.11 PSY4R0311 - 1
3.12 PSY4R0312 - 1
3.13 PSY4R0313 - 1
3.14 PSY4R0314 - 1
3.15 PSY4R0315 - 1
3.16 PSY4R0316 - 1
3.17 PSY4R0317 - 1
3.18 PSY4R0215 - 2
3.19 3X8 Pin - Stainless Steel 1
3.20 Elastic ring MC Réf: F3-05-35 - 2
3.21 Belt BINDER Réf: SYN-25AT3-648 Gen3 - 1
3.22 Expansible hub MC Réf: A5-58-15 - 1
3.23 Motor PHASE Réf: U303N4-50-3 - 1
3.24 Coupling MC Réf: A5-28-14-14-2 - 1
3.25 Ball bearing SKF Réf: 6202-2RSH - 2
3.26 Elastic ring MC Réf: F3-04-15 - 1
3.27 Expansible hub MC Réf: A5-57-35 - 1
3.28 Spring VANEL Réf:C.053.055.0079.I - 4
3.29 Elastic Ring MC Réf:F3-050-50 - 1
3.30 Force sensor HBM Réf: C9C-50KN - 1
3.31 Elastic ring MC Réf: F3-05-47 - 2
3.32 Ball bushing MC Réf: B82-DBKS-30-PP - 4
3.33 SEAL RING MC Réf: E1-35x52x7 BASL - 1
3.34 Tightening nut SKF Réf: KM5 - 1
3.35 Brake washer SKF Réf: MB5 - 1
3.36 Ball bearing SKF Réf: 7305-BEGBP - 3
3.37 Flat washer M 6 N 4
3.38 Flat washer M 8 N 2
3.39 H M8 Nut - Galvanized 3
3.40 CHC M3x8 Screw - Galvanized 2
3.41 CHC M5x16 Screw - Galvanized 8
3.42 CHC M5x20 Screw - Galvanized 4
3.43 CHC M6x25 Screw - Galvanized 6
3.44 H M8x65 Screw - Galvanized 1
3.45 CHC M5x30 Screw - Galvanized 6
3.46 CHC M5x12 Screw - Galvanized 10
3.47 CHC M4x20 Screw - Galvanized 4
3.48 CHC M6x30 Screw - Galvanized 6
3.49 CHC M8x20 Screw - Galvanized 4
3.50 PSY4R0318 - 1

4 PSY4R1000 - 1
4.1 PSY4R1001 A 1
4.2 PSY4R1002 B 2
4.3 PSY4R1005 - 2
4.4 PSY4R1006 2
5 PSY4R2000 - 1

5.1 PSY4R2001 - 1
5.2 PSY4R2002 - 1
5.3 PSY4R2004 - 1
5.4 PSY4R2005 - 1
5.5 Magnet SUPERMAGNETE Réf: S-06-04-N - 4
5.6 FHC M3x10 Screw - Galvanized 6
5.7 FHC M5x12 Screw - Galvanized 2
5.8 PSY4R2006 - 1
5.9 Indexing finger EM Réf: 32-1325-12-9 - 1
6 PSY4R1003 - 1
7 PSY4R1004 - 1
8 1

8.1 PSY4R0401 - 1
8.2 PSY4R0402 - 1

8.2.1 -
8.2.2 4
8.3 PSY4R0403 A 1

8.3.1 -
8.4 PSY4R0404 - 1
8.5 PSY4R0405 - 2
8.6 PSY4R0406 - 1
8.7 PSY4R0407 - 2
8.8 PSY4R0408 - 1
8.9 PSY4R0409 - 1

8.10 PSY4R0410 - 2
8.11 PSY4R0411 - 1
8.12 PSY4R0412 - 1
8.13 PSY4R0413 - 1
8.14 PSY4R0130 - 3
8.15 1
8.16 Servodrive B&R ACOPOS V3 - 1
8.17 1
8.18 Hinge EM 37-120-40 - 2

8.18.1 - 1
8.18.2 - 1
8.19 Button ARU SCHMERSAL - 1
8.20 Washer ESSENTRA Réf: VG-2 - 2
8.21 Screw ESSENTRA Réf: VGS-5 - 2
8.22 Pusher EM Réf: 32-407-5 - 1
8.23 Magnet SUPERMAGNETE Réf: S-08-04-N - 3
8.24 5X20 Pin 2
8.25 Button BULGIN MPI002-TE-BL-24 Réf RS: 729-5404 - 1
8.26 Flat washer M 5 N 10
8.27 CHC M5x10 Screw - Galvanized 16
8.28 BHC M4x8 Screw - Stainless Steel 22
8.29 CHC M4x6 Screw - Galvanized 4
8.30 FHC M5x10 Screw - Galvanized 8
8.31 CHC M5x25 Screw - Galvanized 6
8.32 CHC M3x8 Screw - Galvanized 6
8.33 FHC M3x8 Screw - Stainless Steel 2
8.34 CHC M4x12 Screw - Galvanized 4
8.35 CHC M5x20 Screw - Galvanized 8
8.36 CHC M5x30 Screw - Galvanized 4

A B C D E F G H

1

2

3

4

I J K L

5

6

NOTA:
Casser les angles vifs 0,3 x 0,3 sauf indications contraires.
Break the sharp edge 0,3 x 0,3 unless otherwise stated.

Dimension in mm 


